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1) solve~ /K (— SR L KA TERA I, e TE2)
b=-76 c=480
x”+9x +bx-c=0  (10) x<0 (11)

solve ((10), (11),x) FATTHEXITREDRESILD
RFoT- iR x={-5, -12}

2)newtona <K (FEAL T R A i< IRE)
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*x  gint+cost=0 (3)

newton((3), t=0, e=10") BB LU ESND
RESTM t=—0.7854

a’+sinb=3 (4) ReoT-f
e“—cosb=6 (5)
newton((4),(5),a=0b=1)
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x-3=0
ZO—TEEESBRRIRO L 5 ICHETE T, HEBRECRARIFER CRRLET,
solve_script({1,0,-3})=1{-1.732050808, 1.732050808}  iT{LIfi#
solve_script({"1","0","-3")={"y/3", "-/3"} Au S
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0=1.91084482173435
b=5.57385213050846

x-6y=8
3x-2y-7=-5 ZOENHFRRRUTIRDO L S ITREE T,
solve script({{1,-6,-8},{3,-2,-2}})={-0.25, -1.375}
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2V T MET AL THRANE BS BB A ET,
A="3x"y-5xy+6y’-2xy=156"  B="4x"-3xy’-Txy+9y’=1"
TR | FRDKEE DI E TR D IR ET,
A

solve_strmg({{A,B},{”%“,”%”},(T)})z{{z, 5.24351700603434}, {3, 2.13399376655195}}
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